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Instructions for Candidates

Write your Roll No. on the top immediately on receipt
of this question paper.

This Paper is divided into two sections: Section A &
Section B.

Attempt any five questions from Section A. All
questions are of 5 marks. '

‘Attempt any five questions from Section B. All

questions are of 10 marks.

Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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SECTION A (@S &)
(Answer any FIVE of the following)

(A= ¥ & fordlt dfer @ oemc 71)

1. Define Consumer Price Index (CPI). If the CPI for
Year 2 is 112 and the CPI for Year 1 is 105, find the

rate of inflation b‘etvvx}een the twb periods. ()
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2. (a) Explain the difference between real GDP and

nominal GDP. . =~ ‘ | - (2)

- (b) The table below shows the quantity produced and

prices of both goods for two consecutive years

(2015 and 2016). Calculate the GDP Deflator for

FY 2016-17. | (3)
Year - Wheat : Cloth

Quantity (in quintals) | Price (in ¥) | Quantity (in metres) | Price (in %)
2015-16 50 700 30 300
2016-17 . 60 x 720 | 32 200
Base Year= 2015

(&
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2015-16 50 700 30 300

2016-17 | 60 720 32 - 200

Base Year= 2015

:’:. What is 'consu»mp.tion fﬁnétion?.Explaiﬁ .the‘fa»ctors“'
Which levad to a shift in t'llle‘ donéumptiOn func’;ibn.
N . ‘ ®)

4. What are the. components of user cost of capital?

' | )
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5. What do you mean by ‘Automatic Stabilizers’?

Discuss the role of income tax as automatic stabilizer.

(5)

ot FelSwrwal’ ¥ Ul 991 qd 27 @i
Rl & ¥ A FEER & e W T ikl

6. Why does an increase in interest rate cause a decline

in bond prices? | (5)
m»ﬁ'ﬁ'é’%%m@ R P ¥ fiwme = A

l7. Explain the impact of Open Market Operations (OMO)
| (5)

on interest rate.
A R R AT AHE st (AS) B W W AR
| |
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SECTION B (wiE =)
(Answer any FIVE of tje Jollowing)
(R & & Rl Wt & gere 2))
Given the following Keynesian model : (10)

C =100 + 0.8 Y,
I, = ¥50 crore

G, = 50 crore

X, = %10 crore
M=0.1Y §
t =0.25

Calculate the following :
 (a) Equilibrium GDP
(b) B'udget Surplus/Deficit

(c) Balance of Trade



I, = %50 crore

G, = %50 crore

X, = 10 crore
M =0.1Y

t = 0.25
Tefafae & e Aike:
(=) bge= Sedr
(@) wwie SfeRy /=T
(A7) UR qgAT
2.  What is the difference betwéen expansionary fiscal
policy and contractionary fiscal policy? Explain why
the multiplier effect of change in government
expenditure on goods and services is more than the

multiplier effect of change in government transfer

- payments? " (10)

P.T.O.
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Explain the interrelationship between the progyg o
value-added, income and expenditure methoq o

national income accounting. (1)

T T A W I AN e - A, S 3¢ o v
3 @ Faden W we A -

What Macroeconomic problems do policymakers mos!

| lic
commonly face? Outline the macroeconomic policy

tainable

(10)

instruments used to promote stable and sus

economic growth,
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5. (a) Explain how money multiplier depends upon :
(1) C111‘1'ellcy5Deposif Ratio;
(1) High- Powered Mopey;
(i1) Cash Res.erve Ratio. (6)

(b) Using the following data of a bank, calculate the

 money multiplier i @
Required reserve ;atio (rr) = 0.2
Currency in circulation = 100 million
.Deposi.tsv = ?409 .milliqn |
(i) - g
(i) 3o W TR AT
(i) e ST ST

P.T.O.
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6. (a) What are the components on which the aggregate

expendlture functlon i1s based?

@

(b) For an economy, assume that the tax rate is 0.4

of national 1ncome the MPC out of the after tax

income is 0.8; mvestment 18 %2 OOO government

- spending is ¥1 OOO exports are %2 OOO and 1mports

are O 05 of after tax lncome

What is the

equ111br1um level of output for this. economy‘7

- (6)

National | After-tax | Imports | Aggregate
@Ineome - Income Consumption I+G+X M) Expenditure

38,000 24,340 o

39,000 :

10,000 '
e I

11,000

B
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32,000 B; W 31,000 2; faia 22,000 ® 3K
ST T ~Fed ST T 0.05 B 56 srferaey 3 forg
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T RN '
» SN | 1+G+x | om@ | 99
= S - . ™ | =g

38,000 | %4340

39,000

310,000

11,000

7. _W_fite short 'vnotes oh aﬁy two :° P (5+5)
'(a) Functioﬁs. of Money - y
(b) Budget Multiplier
(p)'Operating Surplus
| ‘(‘d).Nation'aIWealth

P.T.O.
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